Math 111 - Final Exam Dec 16 2011

Question 1 [10 points]: For this question you may state equations of lines using any of the standard forms.

( 3(:11)[4] Determine an equation of the line passing through the points (—7,3) and (=2, —=3).

j 9 - 3-3 =
XX -2-(-%) s

(b)[3] Determine an equation of the vertical line through the point (11, —11).

]7<=Il ‘

O

(c)[3] Determine an equation of the line which is parallel to the line 3x — 5y = 12 and which has y-
intercept (0, 3).
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Question 2 [10 points]:
a)[5
(53( )i

] A doughnut shop sells doughnuts for $3.29 per dozen. The shop has fixed weekly costs of $650 and it
costs $1.55 to make a dozen doughnuts. How many dozen doughnuts must be sold each week in order
for the business to break even?

N = oo R Hagen solol.

Q= z.29x

C= (5ot LY X,

R = 327x = 6+

| AU = @30

- 6350
X (uq"Ll
K= 3FY.

S 3 ologen plavglond vt e sl <ach week
O "'0 .bfe—WK-eV%\—.

) (b)[5] A company has data indicating that when the price of a particular product is $138 the quantity

demanded is 72 while the quantity supplied is 96. At the market (or equilibrium) price of $120 the
quantity demanded increases to 88. Determine the supply equation for the product.
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Question 3 [10 points]:

- (a)[8] A local charity sells boxes of oranges and boxes of grapefruit to raise money. A box of oranges costs
(~ w $14 and a box of grapefruit costs $16. The fundraising drive ended up raising $7570 from the sale of 502
boxes of fruit. How many boxes of each type of fruit were sold?

Lc't X = N beyr o'P boxes of c)rowéef sobl .
Q'g it " wooou 8@\\0%{. W
O %Xy = oL (@) = gzscn-x

@ 14xt1by= )@ > ux + 6(§02-x)= FSFO
Ly +8022 —[6x = FE7D

—2x = “del

X = 23|

0, q = S02-231= 23|
4 2-23 |

5 231 Doxes 4 owav\%eg Aol
2*+ Doxes 1 %m\)e{n&cl- we~ve Solek.

-

(b)[5] An investor has $12,000 to invest and two investments are available: one pays 4% simple interest per
year, while the second riskier investment pays 6.5% simple interest per year. The investor has a goal of

earning $570 for the year. How much should be invested in each of the investments?

‘LG/JF‘ X = O oot v veStes( o7 “f%
L% = a.w OM«VJ’ (;V’ICJ'&S%M ot (ﬂafz_

@ X+twyw = 12 00D
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Question 4 [10 points]: Solve the following system of equations using matrix reduction (no credit will be

given for using any other method). Use proper notation to clearly state the row operations used at each step
. /\/j and clearly state the final solution.

—X+2y+z=1
-5x+8y+2z=3
x—1ly —3z=-2

-tz | \
- 9 2|3
-1 -3 |- Loz 1
R= 1) v e Lg-t.%=— 3.=>Q= 3-2=3+94=1;
ORI -
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Question 5 [10 points]: For this problem use the following matrices:
3 -1
) 301 B (-1 1
I A S EE R Y

(a)[3] Compute AB —4C .

M-yc = [3 o L3 1) _ [—-l |
> 1 a2 |f 4113 =2
| P

= [l o _3] Y ”’“'(]
(b)[4] Determm;c/k’L IO\XB

U 0 Rz (J)W-ev—;,
{ 3 \ l » B c"l.-. [‘l I_]
® ‘ \ 3 |
®\ . -\ o = (_\\‘{ ‘(“r °
T« B R S
&% - o ll [O \ \ 3 ‘}

(c)[3] Solve 1
oy]-13]

for x and y. Your answer to part (b) should make this easy.

=l =00 (]
WB) v%‘““(w
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Question 6 [10 points]: Maximize z = 4x + 6y subject to the constraints

e 5x+3y > 15
X +2y < 20

7x + 9y < 105
x>0
y20

Keep your work organized: neatly draw any required graphs and clearly show your work when determining corner
points. State a clear conclusion.

j:,‘e,%wﬂ«.ﬁ e/j\uaﬁav» +esT Pt yesutt
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:px-ﬁ&s 105 :}x+qg=|or . (0y0) v .
a
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s = / ”

3 /s 20 €479
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Corners piS |2 =4x 64 —fg =35
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Question 7 [10 points]:

%) (a)[3] What effective rate of interest is equivalent to 5.5% compounded monthly?
I
Solvt \_\—6{ = <|..\- ans—y )
12

= @‘: (l.(. 09055’)‘2-—4'

‘2~

é 005‘64

)

(b)[3] A deposit made today has a value of $10,000 at the end of 10 years. If the interest rate is 5.6%
compounded quarterly what was the orlgmal deposit amount?

(1 -f\l) it A = 10,009,
V= 0s056
| - | w= 4
O A t=e

' P=
e o

(+5)"™

_ L0 00V 2 ¥ 21
F (1+ wose) O ’Tﬂgq'g :

(c)[4] An investment triples in 12 years. What rate of interest compounded semiannually will achieve this? |

(X
e )" e v
"i
% <|+-\%:>2,-::—3_—

\
24
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/i
e =25
- = 0.A1F = hgﬁ'% <
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Question 8 [10 points]:

(a)[5] Smithers’ 45 birthday is on January 1 2012 and he has decided that it is time to get serious about

( } retirement. He will deposit $20,000 on his upcoming birthday, and then make deposits of $750 at the

end of each month for the next 15 years. All deposits will be made to a fund earning 7.5% interest
compounded monthly How much will be in the fund when he reaches age 607

20009 :"SD q’ o ov -
Cr Y T
pMoithi ¢ 0 I 2 P
’ . 139 (S)n)=Isv
' | L
| . <
e 5“/@& 20 000 ‘af@fwsl'(' $ vz=o, ofh)
W= |2
t=15
:P = 20000
Comuch 1 1= 003
e A 03
m= [ §O
Pe ¥

| D) —ﬁ—ﬁ‘ m
SRV VP o o o s ﬁ,ooDO(H' O'OK ~+ 7'5.0[ ]: 30"1)7—2] |

0,0
O :

(b)[5] A $300,000 bank loan will be repaid by making payments at the end of every month. One bank
offers 4% interest compounded monthly with a 20 year repayment period, while another bank offers 5%
compounded monthly with a 25 year repayment period. Which repayment option results in the lowest
monthly payment?

Rank | bt
= 100 ¢o0
\/\: 300 (000 ' E/;__; 0, 05
s = g.0% ‘-
3 O‘L _¢zg)(t»)=3°°
" = (;,o)(u) = 240 (ooos‘) (300 ouu)
— (l+C 7 5‘ - 300
Lv,="® [\ : ] [l-* (o ]
)
P _tV) P = +
L™ fo= 13537
(2:24)(300000) So S bvew 25 V3
| T e
| ) vwow‘%\’\\‘% Qc—\awo/vd‘ .
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Question 9 [10 points]:

3(a)[2 A senior's club has 40 female and 25 male members. An 8 person delegation of 4 female and 4 male
members is to be selected to attend a regional meeting. How many different delegations are possible?

nouwm ber % M,?axxo-«s (< C (40,4 C (a54)

4ol . 25!
361 all41

r 156, 083 saoj

o

(b)[2] A bank machine requires a six digit PIN code where the digits can be 0,1,2,...,9. How many PIN
codes have at least one repeated digit?

e kee Ui et - ‘i Do ot o,’M nww\le&( w:'("k\h,a"‘
least \ vepest ek Y\PQSS.\ Lie PIN — ep esteck oL
W%«+ caote)

(10)()(2)(F)(6)(5)

[ 749, voo |

(c)[3] How many different ways can 3 red, 4 yellow and 5 blue bulbs be arranged in a string of Christmas tree
lights with 12 sockets?

pumber o wos s c(12,3)-C(9,4)- C(535)

LI | SR

at 3\ atst = o5l

(24 _
7yl 5l -
(d)[3] Suppose A and B are sets with the property that n(AU B) = n(AN B). What is n(A) — n(B)?
(.ﬁr\%) T A= (AuR) , 5o n(And) € n(A) < VL(_AUB))
s n(aug) ¢ @) < w(AuvB) |
So W (A) = VLL@UB),
Cieni lowr (8)
‘ "3 \ v (8) = w (aud).

./ 2o w(A) —w(B) =ﬂ
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I
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Question 10 [10 points]:
] The odds for event £ are 1 to 2, and the odds for event F are 2 to 3. If ‘P(E N F) = 0 determine the

("h ‘w), (a) [3
R odds for E U F, that is, the odds for E or F. o
Pee)= - =3 | pceor) = PEILF) —XEAP)
| L+ Z
P(F) = 2 - 2 = 7%
143 S TR
(Y [(+Y

VVZOJJI%K E o ae [ ‘/D‘/]

(b)[2] Two balls are drawn, one after the other and without replacement, from a box containing 4 white, 3
green and 2 yellow balls. What is the probability that one ball is white and the other yellow?

CE"oe batd VJLH@).%Q Q@/“ wr's w(E) = C@)/)‘Cé?,l)-'?‘
$=" amy ‘o loabtg",) n (s = C(a2),
w(E) 5 ¢

= | &
4

" () ] ctw (2("“‘&;(>

™
b (c)[2] Again, two balls are drawn, one after the other and without replacement, from a box containing 4
white, 3 green and 2 yellow balls. What is the probability that the first ball is white and the second is

yellow?

=" fust ihuk, second 6”%‘”"3 n (E) = C1)-Cl)=F
5= "a o bagts  (ovolen iwngJ)
W(S‘); PCQ‘LZ)' |
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dpu P (E Fandl ,..El—" = ‘ =~
“5) - =T '
(d)[3] A person pays $3 to roll a pair of dice. If the person rolls a “double”, meaning G L etc, then
he wins $12, otherwise he wins nothing. What is the expected net payoff of such a game?
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